=
<

(0 @) (rad)

a(d cot(d))
5

1072

E_ ------- ¢ o -‘-Il +
F r3
B . -+
B I T‘"‘ +*
o 3 £
103 e R 1118 | IKEE SRt
o 4+
v r +
.91004‘1)_ I ......! L .91004‘1)_ b .! Fa ul
T 3 T : T r : Tl
@ F 414 @ L 1T iy
h=----- e d el R .- : b e o R
N T N E3HN :
[ : [ 1T :
N N b T N
0.95— > . 0.95— — ,
10™ 1 10 0 10™ 1 10 0, .1
TP, (PCA t% beamling TP, (PCA t% beamline
= § M:V\V/%B :gﬁﬁﬁ%ﬁ%ﬁiﬁe’é §:ﬁ EI :'“ab:??c'h
—— D M:V888 :R888888881:8 obal—m F! —batch32
—— DOM~V0001—"R000000001—Global—mkFit“batch64
=~ I —~
= : 1]
5 3]
= =
~ ~
< -
=]
o
= 5
o]

107

1072

01053 ——ul Ly PP Y
= o 411
g 1:— ----- 4 -:"’-n-.p:q.- T B
E I
0.95F----- {5 o A E Y EEREE R P PEPETPPR
i - 1 :
107 1 10 02 . 10°
TPp, (PCA tlo beamline
~ It
2 C
- L
o
S L
e L
<]
0 10%F : :
5 E LlLE 1 :
o 1:— ----- - -.r‘?i: BE a3 ": ------------------
0.95F----- {4 S B R PR PEEPPEE
0.9

1

1]

H
S

v

3

=

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


